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1   Introduction
In RAN1 meeting#47, it was approved that UE minimum reception bandwidth is 20MHz [1]. This contribution discusses possible UE measurement scenarios in LTE and proposes the factors that UE measurement type depends on. 
2   UE Measurements in LTE
In LTE, there may exist following UE measurement scenarios due to scalable system bandwidth:
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Fig.1. Measurement scenarios
There are 5 cells in Fig.1. Cell1, Cell 2 and Cell 3 operate on the same carrier frequency, and the other two cells operate on different carrier frequencies than the above 3 cells. UE1 camps on Cell1 and UE2 camps on Cell3. Cell1, Cell 2 and Cell 5 transmit over a 20MHz allocation; Cell3, Cell4 transmit over a 10MHz. Minimum reception bandwidth of UE1 and UE2 is 20MHz.
· Neighbour cell has the same carrier frequency as the serving cell
The measurements can be considered as non-gap assisted neighbour cell measurement. UE can simultaneously perform measurements on cells which have different bandwidths. For example, in figure 1, UE1 measurement on Cell2 and Cell3, UE2 measurement on Cell1 can be performed without re-tuning the UEs’ receivers.   In these scenarios the bandwidth of required measurement of a neighbour cell and common channels are within UEs’ receiving bandwidth, and UEs have the reception capability on neighbour cell.
· Neighbour cell has the different carrier frequency from the serving cell
UE measurements in the scenario may be classified as non-gap assisted measurements and gap assisted measurements based on the factor that is the neighbour cell operating bandwidth. The factor include the following considerations: 
Whether common channels of a neighbour cell are within UE receiving bandwidth or not;

Whether the bandwidth of required measurement of a neighbour cell are within UE receiving bandwidth or not;

In addition, whether interference from a neighbour cell is within current cell operating bandwidth or not; 
· Non-gap assisted measurements

If common channels and the bandwidth of required measurement of a neighbour cell are within UE receiving bandwidth, UE can perform measurement and has the reception capability on neighbour cell without gap assisted. E.g. In figure 1, UE1 measurement on Cell4 can be performed without re-tuning UE’s receivers.  In the scenario the interference from the neighbour cell is within current cell operating bandwidth, so it can be considered as intra-frequency interference. Therefore the measurement should be considered as intra-frequency measurements. 
· Gap assisted measurements
If common channels and the bandwidth of required measurement are out of UE receiving bandwidth, UE need measurement gap to perform measurement, where interference from neighbour cell is inter-frequency interference. The measurement can be considered as gap-assisted measurement. For example, UE1 measurement on Cell6 need gap to perform.
 3 Conclusion
Based on above analysis, it is proposed:

· UE measurement type may be dependent on factors like the carrier frequency and operating bandwidth of neighbour cell.
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